President’s Challenge
Qualifying standards

The Presidential Physical Fitness Award

Participants must at least reach these levels in all 5 events in order to qualify for the Presidential
Physical Fitness Award. These levels represent the 85th percentile based on the 1985 School

Population Fitness Survey.

The Presidential Physical Fithess Award
(This represents the 85th percentile.)
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The National Physical Fithess Award

Participants must at least reach these levels in all 5 events in order to qualify for

the National Physical Fithess Award. These levels represent the 50th percentile
based on the 1985 School Population Fitness Survey.

The National Physical Fitness Award

(This represents the 50th percentile.)

Curl-Usz:Partial* Shutte | ¥-sit 4} Sit& | Dne-Mile | Distance Option** pull—UpsA:E:;Eg_'g!Fr:ﬁd
Age (S:t ane Curd-Ups Run _Reach Reach Run (min:sx_ac] (min:sx_ac] [#) Ups* Hang
minute) [#]) [sec.) | finches) {ern)  Jlrintsec) [ 104 mile| 172 mile 25 (sec.

-] 22 ia 132.3 +1.0 25 12:36 2:21 1 7 -]

7 28 iz 12,8 +1.0 25 11:40 2:10 1 2 2

= 31 17 1z.2 +0.5 25 11:05 4122 1 =l 10

=l 22 17 11.9 +1.0 25 10:20 4114 2 1z i0

ia 25 24 11.5 +1.0 25 S48 2 14 iz

11 27 25 11.1 +1.0 25 220 2 15 11

— 1z 40 32 10.6 +1.0 26 S:40 2 is 1z
1z 42 29 10,2 +0.5 26 2108 =2 24 14

14 45 40 9.9 +1.0 28 Fid4d =] 24 20

15 45 40 2.7 +2.0 20 Fi30 -] 20 28

16 45 37 9.4 +3.0 30 Fili0 7 30 28

17 44 42 9.4 +32.0 24 Fio4 = 27 20

& 23 10 13.8 +2.5 27 13:12 2126 1 & =1

7 23 1z 1z.2 +z.0 27 12:96 2121 1 =2 &

2 29 17 12,9 +2.0 28 12:30 4156 1 = 2

El =0 20 12.5 +z.0 28 11:52 4150 1 1z =

10 20 24 12.1 +3.0 28 11:22 1 1z =

11 22 27 11.5 +3z.0 29 11:17 1 11 7

i1z 25 20 11.3 +32.5 20 11:05 1 ia 7

1z 27 40 11.1 +3.5 =1 10:23 1 11 =

14 37 20 11.2 +4.5 33 10:06 1 10 9

13 26 26 11.0 +5.0 26 =R 1 13 7

15 25 25 10.9 +5.5 24 10:31 1 iz 7

17 =4 40 11.0 +4.5 =25 10:22 1 16 7




